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X |dt B HT 122 83 104 187 i b HT| 1,022 867 908 1,775
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W mr| 1,319 1,695 1,620] 3,315 H T 415 523 526| 1,049
iy (8 B T 73 98 104 202 #m |T dm WT 524 660 642| 1,302

OHEE AT 831 958 934 1,892 B ) 234 288 284 572
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B [FralH— T B 0 0 0 0 = BETHEACK 137 181 190 371
#[EECHE T H 658 809 803 1,612 =y HET RS 319 437 442 879
H | BAHE =T H 390 458 419 877 B [=» AETIAK 91 163 170 333
H [ETAT DU T H 20 19 1 20 = HETESSL] 1,099 1,238| 1,247 2,485
X AR T H 745 920 922| 1,842 = HETHE % I 128 157 166 323
= » H W& 84 122 130 252
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my [ /) &t 1,813 2,206] 2, 6145] 4,351 = HETH IR 179 252 273 525
o A H7| 5,219] 6,081 6,097 12,178| X | =4 HEEL 166 298 312 610
=B B BT 1,400| 1,480| 1,469| 2,949 = HITRE 285 430 422 852
5= J7 B HT|  5,504| 6,771 6,871 13,642 = HETAY 118 169 193 362
B = 5 HT 945 1,107 1,044 2,151 = HETEEZHR 85 119 134 253
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= == HT 727 850 791| 1,641 /)N 2 5,241 6,793] 6,987] 13,780
7
ip
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TTO|RE T ET | 3,291 4,211 4,394] 8,605
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51 A2 BT B fhr 23 34 34 68
B HT 5 AR £k 36 45 48 93
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